EARAROBEEIERT — 2 N— IBISH —F

201553/ 140 (+) 23m£E1H

KM C2—28# C2 #7%4m®t ‘ =z # ‘ (arsh] — | & (&) 13000 &
[AE£] 1% :110,000"  23%&:2500M”  33%&:10,000 M  43%&:6,000 3 ~ 53 :3,000H
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
2y aTASY R i 5 ﬁg‘lﬁ)ﬂﬁ 1:26.9 2-2-2-2 | 40.1| — 2 | 439 igg% (=5)
X THANAN BT RIAVTT 97 = 5 /—*7:‘/77—L\
255 NS YA 4 %%IE% (1:27.2) 1-1-1-1 |40.7| — | 1 | 486 %i?@—(giﬁ)
. 11/2 T
RiTAVIHLFe BTw K=Y @0 | a8
AT it 7 EEEE'ST‘E 1:27.9 5-6-6-5 | 40.6 | — 4 458 ;‘EIEJIE;E (#£8)
. 4 _ =)
LTFTU—F BieHUST @ 2| diingss
3 s 4 | BEA— 1:28.4 3-3-3-3 |41.4| — 6 450 | ABEX (EH)
TAAHAIRLZE 54.0 (2 1/2) (-3) MARESR
L BATATv— BXEZ—FT1Iy bk N E%5%
51111 |#>¥/E5O 4 4 Jslé%O#E 1:28. 6-5-5-4 |41.0| — 3 498 *U;ii (#£8)
. A= -
R:ARYIFRNYF—/ BHFLY—FI2—X e 3 ek w
6l5l5| 27— bPar1e o4 éJéMSI: 1:29.0 4-4-4-6 | 41.8| — 5 458 %ﬁg?,ﬁ (t£8)
. 2 1/2 i
L:xLThANAN B TLAH—I @12 © FREFHS
d > PIEEAR f 8 | BEEA 1:31.1 7777|418 — | 7 | 469 ﬂgfl (%)
: (814) i
QLFFRTIA M= BFRILFLU— ) | pim s
® I —F—EBIERL
13=7r= 6,4,3,5,7,1,2
2a|=7r= 6,4,3,5,1,7,2
da=3r= 6,4,3,5,1,7,2
40—+ — 6,4,3,1,7,5,2
[ N3
H OB 4 300/ 714K 4-6 140M B = 4-6 260M 3EHE 4-6-7 410/
8 B 4 130M 4-7 170 B H 4-6 590 K31 4-6-7 1,620
6 110M 6-7 210

ABICOVWTRDTEEERROODE. TR LIV,




